

# PAUTA Auxiliar 6

$$P1) a) \sin(2x) = \frac{2 \tan(x)}{1 + \tan(x)^2}$$

$$\begin{aligned} \frac{2 \tan(x)}{1 + \tan(x)^2} &= \frac{2 \frac{\sin(x)}{\cos(x)}}{1 + \frac{\sin(x)^2}{\cos(x)^2}} = \frac{2 \frac{\sin(x)}{\cos(x)}}{\frac{\cos^2(x) + \sin^2(x)}{\cos^2(x)}} = \frac{2 \frac{\sin(x)}{\cos(x)}}{\frac{1}{\cos^2(x)}} \\ &= \frac{2 \sin(x)}{\cos(x)} \cdot \cos^2(x) = \sin(2x) \end{aligned}$$

$$b) \cos(2x) = \frac{1 - \tan(x)^2}{1 + \tan(x)^2}$$

$$\begin{aligned} \frac{1 - \tan(x)^2}{1 + \tan(x)^2} &= \frac{1 - \frac{\sin^2(x)}{\cos^2(x)}}{1 + \frac{\sin^2(x)}{\cos^2(x)}} = \frac{\frac{\cos^2(x) - \sin^2(x)}{\cos^2(x)}}{\frac{\cos^2(x) + \sin^2(x)}{\cos^2(x)}} = \frac{\cos^2(x) - \sin^2(x)}{\cos^2(x) + \sin^2(x)} \\ &= \frac{\cos^2(x) - \sin^2(x)}{1} = \cos(2x) \end{aligned}$$

$$c) \sin(3x) = 3\sin(x) - 4\sin^3(x)$$

$$\begin{aligned}\sin(3x) &= \sin(x) \cdot \cos(2x) + \sin(2x) \cdot \cos(x) \\ &= \sin(x) [\cos^2(x) - \sin^2(x)] + 2\sin(x) \cos^2(x) \\ &= \sin(x) \cos^2(x) - \sin^3(x) + 2\sin(x) \cos^2(x) \\ &= 3\sin(x) \cos^2(x) - \sin^3(x) \\ &= 3\sin(x) [1 - \sin^2(x)] - \sin^3(x) \\ &= 3\sin(x) - 4\sin^3(x)\end{aligned}$$

$$d) \cos(3x) = 4\cos^3(x) - 3\cos(x)$$

$$\begin{aligned}\cos(3x) &= \cos(2x) \cdot \cos(x) - \sin(2x) \cdot \sin(x) \\ &= [\cos^2(x) - \sin^2(x)] \cos(x) - 2\sin(x) \cos(x) \\ &= \cos^3(x) - 3\sin^2(x) \cos(x) \\ &= \cos^3(x) - 3\cos(x) + 3\cos^3(x) \\ &= 4\cos^3(x) - 3\cos(x)\end{aligned}$$

$$P2 \quad \tan(4u) = \frac{4 \tan(u) - 4 \tan^3(u)}{1 - 6 \tan^2(u) + \tan^4(u)}$$

$$\begin{aligned} \tan(4u) &= \frac{\sin(4u)}{\cos(4u)} = \frac{2 \sin(2u) \cdot \cos(2u)}{\cos^2(2u) - \sin^2(2u)} \\ &= \frac{4 \sin(u) \cos(u) [\cos^2(u) - \sin^2(u)]}{[\cos^2(u) - \sin^2(u)]^2 - [2 \sin(u) \cos(u)]^2} \\ &= \frac{4 \sin(u) \cos^3(u) - 4 \sin^3(u) \cos(u)}{\cos^4(u) - 6 \cos^2(u) \sin^2(u) + \sin^4(u)} \\ &= \frac{4 \tan(u) - 4 \tan^3(u)}{1 - 6 \tan^2(u) + \tan^4(u)} \end{aligned}$$

P3) Hint

probar

$$\tan(x+y) = \frac{\tan(x) + \tan(y)}{1 - \tan(x)\tan(y)}$$

$$\frac{\sin(x+y)}{\cos(x+y)} = \frac{\sin(x)\cos(y) + \sin(y)\cos(x)}{\cos(x)\cos(y) - \sin(x)\sin(y)} \cdot \frac{\frac{1}{\cos(x)\cos(y)}}{\frac{1}{\cos(x)\cos(y)}}$$

$$= \frac{\tan(x) + \tan(y)}{1 - \tan(x)\tan(y)}$$

Con lo que se concluye

$$\tan(\alpha) = \frac{a}{x}, \quad \tan(\alpha+\beta) = \frac{a+b}{x}, \quad \tan(2\alpha+\beta) = \frac{a+b+c}{x}$$

$$\frac{a+b+c}{x} = \tan(2\alpha+\beta) \stackrel{\text{Hint}}{=} \frac{\tan(\alpha) + \tan(\alpha+\beta)}{1 - \tan(\alpha)\tan(\alpha+\beta)} = \frac{\frac{a}{x} + \frac{a+b}{x}}{1 - \frac{a}{x} \cdot \frac{a+b}{x}}$$

$$\Rightarrow \frac{a+b+c}{x} = \frac{\frac{2a+b}{x}}{\frac{x^2 - a(a+b)}{x^2}} \Rightarrow \frac{a+b+c}{x} = \frac{(2a+b)x^2}{x^2 - a(a+b)}$$

$$\Rightarrow x^2(a+b+c) - a(a+b)(a+b+c) = (2a+b)x^2$$

$$\Rightarrow x^2(c-a) = a(a+b)(a+b+c)$$

$$\Rightarrow \boxed{x = \sqrt{\frac{a(a+b)(a+b+c)}{c-a}}}$$

P4

$$a) \sin^4(\alpha) + 4\cos^2(\alpha) = (1 + \cos^2(\alpha))^2$$

$$\begin{aligned} \sin^4(\alpha) + 4\cos^2(\alpha) &= (1 - \cos^2(\alpha))^2 + 4\cos^2(\alpha) \\ &= 1 - 2\cos^2(\alpha) + \cos^4(\alpha) + 4\cos^2(\alpha) \\ &= 1 + 2\cos^2(\alpha) + \cos^4(\alpha) \\ &= (1 + \cos^2(\alpha))^2 \end{aligned}$$

$$b) \sqrt{\sin^4(\alpha) + 4\cos^2(\alpha)} = \sqrt{(1 + \cos^2(\alpha))^2} = 1 + \cos^2(\alpha) \quad \left/ \begin{array}{l} \text{Obs} \\ \text{cs part} \end{array} \right.$$

$$\begin{aligned} \left( \sqrt{\sin^4(\alpha) + 4\cos^2(\alpha)} - \cos(2\alpha) \right)^2 &= (1 + \cos^2(\alpha) - \cos(2\alpha))^2 \\ &= (1 + \sin^2(\alpha))^2 \\ &= 1 + 2\sin^2(\alpha) + \sin^4(\alpha) \\ &= 1 + 2\sin^2(\alpha) + (1 - \cos^2(\alpha))^2 \\ &= 1 + 2\sin^2(\alpha) + 1 - 2\cos^2(\alpha) + \cos^4(\alpha) \\ &= 4\sin^2(\alpha) + \cos^4(\alpha) \end{aligned}$$

E